TRE Foltl AZhule] gk % P 2R gt b 2 ghe AL 22

(1]

H7]

@ sin45° © cos45° © sin0°
® cos60° @ tan60°

60 ©60 066 ®oe 0606



oHe A7) 3 B AV A 3R

@ sin25° @ cos0° @ cos10°

@ tandb° ® tan60°



[e]
rlo

=

A8 T A &

oo

227 (F 0°<A<90°)

§i

@O A9 o]l AXH tanA ] = A}
@ A9 ghol AW cosA S| Y= AL
® A9 Fto] AR sinA o] = At
@ sinA°] FAZE2 1, &2 00},

® tan90°9] g2 A 4= giot



4. 0°<x<45° 4o, \/(1-tanx)? o 27

@D 1-tanx @ tanx+1 @ tanx -1
@ 1 ® 0



V(1 -sinA)2- /(sinA-1)2 9] gt2? (T, 0° <A <90°)

@ 2sinA @ 2sinA+2 @0

@ —2sinA ® —2sinA -2



V(sinx +1)2+ /(sinx—1)2 9] gt2? (H, 0° < x < 90° )

@1 @ 2 ® 3 @ 4 ®5



cm?



ohe 1H I 22 AABC oA /B =85°, /C = A
65°, BC =10 ¢ ufj, AB 9] Zo|& 4H o}
AR 2p2]742] Fstedet, (H, sin 65 ° = 0.9063)




ch



10. & I¥0A AB = 9 0 9] AlEo]|11 C
/AOC = 120°, /ADC = 90° , AQ =
12cm & o], AAOC 9] Yo]=?
120°

A om0 D
D 12V3cem? @ 24+3cm? 12 cm
® 36 V3cm? @ 48+/3cm?
® 60V3cm?




11. o2 AABCOA 1x 2] A7]E 5ot

(1) AABC ] o] : 403

\B‘“-zo—-"C
(2) AABC 2] o] @ 53
A




12. ©hg 299 4299 ol &7 78

AR
@ 24cm? @ 24v2cm?
® 24v3cm? @ 48cm?

® 48+v2cm?




